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(x+3)" =x*+2x..x3+3 =x"+6..+9
b. (2x+3)2:...x2+2><2x><...+32:...x2+....x+9
1 2
C. (x+—j =X 22X XX A P =X X
d. (X—4)2=X2—2x...x4+42=X2— ..... +...
3 2
e. (ZX—ZJ = X 2X 2K X = A — X
f. (x=2)(x+2)=x"—...0=x"—.....
9. (Bx=-2)(3x+2)=..X—...0 = cm
h. [%x—ZyJ[—x+2yj:(....)2xz—( ) =X -
2. NQERISNEQNIMY
a). (c+d)2 b).(r+s)2
e). (x+5)° f). (x+11)°
). (6-x)° j). (3-5x)°
m). (3x—2)(3x+2)
3. GINGIARISNEARIMY
B (x+5) 2. (x+3y)
3 } 3
(x-5) C(2x-3y)

o (x=3)(* +3x+9)

a9, (\ + 2)(.\': ~-2x+ 4)
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(a+b)(a—b)=a%-b? GITINMGI:NNI[MYS
a

n). (4x+3)(4x-3)

IRISNEARMY Iwifaumn (a+b)’ =a®+2ab+b?, (a—b)’ =a’ —2ab+b?,

c). (m+n)2 d). (a+3)2
g). (4x+3)’ h). (5+3x)°
k). (xz—x)2 ). (x—2x2)2

0). (1-2y)(1+2y)

5. (%x2 + y) 3

ab - 3cay’

B (2x+5y)

-

(2x - 1)(4x* + 2x + 1)

(3x +5)(9x" = 15x + 25)
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